
3-1. A disk rotates at 0 2 rad/sω =  and a constant angular acceleration of 22 rad/sa = . The disk 

has a radius that follows a normal distribution 2~ (5,0.2 ) ftr N .  When 1 st = , determine the 

distributions of both normal and tangential acceleration components at point A. 

 
 

Solution: 

0 tω ω α= +  

v rω=   

ta ra=   

Thus  
210 ft/s

ta rµ µ a= =   

20.4 ft/s
ta rs s a= =   

( )22
0na r r tω ω a= = +   

( )2 2
0 80 ft/s

na r tµ µ ω a= + =  

( )2 2
0 3.2 ft/s

na r ts s ω a= + =  

Therefore, 2 2(10,0.4 ) ft/sta N  and 2 2(80,3.2 ) ft/sna N .                                          Ans. 

 

 

 

    

  


